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3 7R B 5 20 21 22 23 24
g | BE 196 186 75 46 145
& % 41,488 35,418 18,125 8,900 21,102
s x |BR 3,825 4,187 1,993 663 2,390
b B & 1,081,985 778,581 321,396 178,267 557,358
E wpEED)| g o HE 2,396 3,441 234 336 1,721
& 282,388 370,824 22,710 58,040 233,263
o %R 6,417 7,814 2,302 1,045 4,256
& M 1,405,861 1,184,823 362,231 245,207 811,723
s | BE 373 293 175 0 131
& 141,075 109,794 81,089 1 108,318
=x | EE 8,315 6,786 8,947 0 3,383
- & 902,171 600,415 850,716 0 449,795
e | XE 513 288 440 0 204
& 314,227 173,082 252,041 | 0 102,105
. T 9,201 7,367 9,562 0 3,718
& % 1,357,473 883,201 1,183,846 1 660,218
s+ | HE 276 243 215 2 7
&% 88,549 84,259 84,028 1,275 2,711
5w | BKE 0 0 0 0 0
e e & % 2,546 0 0 - 0
moa | RHE 10 7 13 0 0
&% 1,535 844 2,008 | 0 . 0
i 7 A 286 250 228 2 7
&8 92,630 85,103 86,126 1,275 2,711
s+ | BE 86 115 87 6 16
&% 94,772 162,394 128,424 8,412 25,900
£ | EE 0 0 0 0 0
g o % & 0 0 0 0 e
me |HE 0 0 0 0 0
& 0 o 0 0 0
a B ft 86 115 87 6 16
&4 94,772 162,394 128,424 8,412 25,900
e % 0 0 0 0 0
5 | am 470 22| 92 34 0
g | BB 0 0 0 0 0
b gt E &% 0 0 0 0 0
moe | HE 0 0 0 0 0
&% 0 0 0 0 0
. i 0 0 0 0 0
&\ 470 242 92 34 0
e x| BE 6 12 22 4 0
& 2,353 3,048 6,957 2,601 0
g | AR 0 0 0 0 0
% &% 0 0 0 DR | 0
m e | R 0 1 0 0 0
&% 0 74 o] 0 0
s £ ik 6 13 22 4 0
& 2,353 3,122 6,957 2,601 0
e #% 0 0 0 0 0
e &8 0 0 0 0 0
— 0 ol 0 0 0
2 28 10 & B 0 0 of o
m e | BB 0 0 0 0 0
& 0 0 0 0 0
i i 0 0 0 0 o
5 & 0 0 0 0 0 0
=+ | ME 938 849 574 58 299
& % 368,707 395,155 318,715 21,223 158,031
5w | EE 12,140 10,973 10,240 663 5,773
P & % 1,986,702 1,378,996 1,172,112 178,267 1,007,153
H P e |BR 2,919 3,737 688 336 1,925
& 598,150 544,824 276,849 58,040 335,368
3t % # 15,997 15,559 e 1,057 7,997
&% 2,953,559 2,318,975 1,767,676 257,530 1,500,552
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